On Neighbourhood Difference Cordial Labeling of Networks

V.M.Chitra^{1*}, D. Antony Xavior²

¹Department of Mathematics, Loyola College, Chennai 600034 ²Sriram Engineering College, Perumalpattu, 602024

Corresponding author: chithu1234@yahoo.com, Tel.: 9841218311

DOI: https://doi.org/10.26438/ijcse/v7i3.538543 | Available online at: www.ijcseonline.org

Accepted: 13/Mar/2019, Published: 31/Mar/2019

Abstract— Graph labeling is the mapping of graph elements like vertices or edges or both to set of integers under some conditions. In a binary labeling to vertices, if we assign the edge label as the difference of the label of end vertices and if the difference of the number of vertices with label 0 and 1 and difference of edges with label 0 and 1 is at most 1, then the labeling is cordial labeling. If the mapping is a one to one mapping from the vertices to the labels from {1, 2, ..., p}, where p is the cardinality of the vertex set, edge label as in the cordial labeling and if the difference of the number of edges labeled with 1 and not labeled with 1 is at most 1, then the labeling is difference cordial labeling. Neighborhood difference cordial labeling is a variation of difference cordial labeling, if the difference of the number of edges labeled with 1 at each vertex is at most 1 then the labeling is neighbourhood difference cordial labeling In this paper we investigate the neighbourhood difference cordial labeling of honey comb network, butterfly network, benes network and grid network.

Keywords- Honey comb network, butterfly network, benes network, grid and difference cordial label.

I. INTRODUCTION

Cordial labeling was established by Cahit [1] in 1987 and Ponraj et al [2] introduced difference cordial labeling of a G(p,q) graph in 2013 and discussed about the difference cordial labeling of path, cycle, complete graph, star, complete bipartite graph, bistar, wheel, fan, gear graph, web graph and helm graph. In 2015 Seoud and Salman [3] studied difference cordial labeling of various types of ladders and one point union of graphs. Xavier et al [5] initiated the study of neighbourhood difference cordial labeling of graphs. In this paper we are going to discuss about neighbourhood difference cordiality of few networks.

II. PRELIMINARIES

Definition 1: A honey comb network HC(n) of size n is obtained from HC(n-1) by adding a layer of hexagon around the boundary of HC(n-1), where HC(1) is a hexagon.

Definition 2:[4] The *n* dimensional butterfly network, denoted by BF(n), has a vertex set $V = \{(x;i); x \in V(Q_n), 0 \le i \le n$. Two vertices (x;i) and (y;j) are linked by an edge in BF(n) if and only if j = i + 1 and either

(i). $\mathbf{x} = \mathbf{y}$ or

(ii). x differs from y in precisely the j^{th} bit.

For x = y, the edge is said to be a straight edge. Otherwise the edge is a cross edge. For fixed *i* the vertex (x; i) is a vertex on level *i*.

Definition 3: The n dimensional *benes network BB* (n) consists of back to back butterfly network and it has 2n + 1 levels, $(2n + 1)2^n$ vertices and $n2^{n+2}$ edges.

Definition 4: Cartesian product of $G \times H$ of graphs G and H is a graph with vertex set $V(G) \times V(H)$ and two vertices (u, v) and (u_1, v_1) in $G \times H$ are adjacent if $u = u_1$ and v is adjacent to v_1 in H or $v = v_1$ and u is adjacent to u_1 in G.

Definition 5: A *path* is an alternating sequence of distinct vertices and edges.

Definition 6: Let P_n denote the path on n vertices. For $m, n \ge 2, P_m \times P_n$ is defined as the *two dimensional grid* with m rows and n columns and is denoted by $M_{m \times n}$. Any vertex in ith row and jth column is denoted by V_{ij} .

Definition7: Difference cordial labeling: Let G(p,q) be a graph. Let $f:V(G) \rightarrow \{1,2,3...,p\}$ be a function. For each uv assign the label |f(u) - f(v)|. f is called difference cordial labeling if f is one to one and the absolute difference of number of edges labeled with 1 and edges not labeled with 1 is at most 1. Any graph with difference cordial labeling is called difference cordial graph.

Honey comb coordinate system: The coordinate system honey comb network is as given below



Fig 1: Coordinate system of HC (2)

Neighbourhood difference cordial labelling:

Let G = (V, E) be a graph where V and E are the vertex and edge sets of G. Let $f: V \to \{1, 2, 3, ..., p\}$ be a function. For each edge uv assign the label |f(u) - f(v)|. f is called a neighbourhood difference cordial labeling if f is one to one map and for every vertex $v, |ef_v(1)|$ where ef (1) and of (0), denote the number of edges insident

 $ef_v(1)$ and $ef_v(0)$ denote the number of edges incident with v, labeled with 1 and not labeled with 1 respectively. A graph with neighbourhood difference cordial labeling is called neighbourhood difference cordial graph.

Theorem 1: Anyhoney comb network HC(n) is neighborhood difference cordial graph.

Proof: A honey comb network of size n HC(n) has $6n^2$ vertices and $9n^2 - 3n$ edges. In that 6n vertices of degree 2 and $6n^2 - 6n$ vertices are of degree 3. Let $V = \{v_1, v_2, v_3, ..., v_p\}$

Define $f: V \rightarrow \{1, 2, 3, \dots, 6n^2\}$

Case 1: When k is positive

$$f(v_{kj}) = 3n^{2} - \sum_{i=1}^{k} (4n - (2i - 1) + j), \quad 1 \le k \le n - 2, 1 \le j \le (4n - (2k - 1))$$

At v_{kj} , $2 \le k \le n - 2, 1 \le j \le (4n - (2k - 2))$
 $\left| f(v_{kj}) - f(v_{k(j+1)}) \right| =$
 $\left| (3n^{2} - \sum_{i=1}^{k} (4n - (2i - 1) + j)) - (3n^{2} - \sum_{i=1}^{k} (4n - (2i - 1) + j + 1)) \right| = 1$

When
$$j$$
 is
even
 $|f(v_{kj}) - f(v_{(k+1)(j-1)})|$
 $= \left| \left(3n^2 - \sum_{i=1}^k (4n - (2i - 1) + j) - \left(\left(3n^2 - \sum_{i=1}^{k+1} (4n - (2i - 1) + j - 1) \right) \right) \right| = 4n - 2(k+1)$

When *j* is odd

ī.

$$\begin{aligned} \left| f(v_{kj}) - f(v_{(k-1)(j+1)}) \right| \\ &= \left| \left(3n^2 - \sum_{i=1}^{k} (4n - (2i - 1) + j) \right) - \left(\left(3n^2 - \sum_{i=1}^{k-1} (4n - (2i - 1) + j + 1) \right) \right) \right| = (4n - 2k) \end{aligned}$$

ı.

$$\begin{aligned} \left| ef_{v_{kj}}(1) - ef_{v_{kj}(0)} \right| &= 1 \\ \text{At } v_{1j}, 2 \leq j \leq 4n - 2 \\ \left| f(v_{1j}) - f(v_{1(j+1)}) \right| &= \left| (3n^2 - (4n - 1) + j) - (3n^2 - (4n - 1) + j + 1) \right| &= 1 \\ \text{When } j \text{ is even} \\ \left| f(v_{1j}) - f(v_{2(j-1)}) \right| &= \left| (3n^2 - (4n - 1) + j) - (3n^2 - (4n - 1) - (4n - 3) + j - 1) \right| \\ &= (4n - 4) \end{aligned}$$

When j is odd

$$\begin{aligned} \left| f(v_{1j}) - f(v_{(-1)j}) \right| &= \left| (3n^2 - (4n - 1) + j) - (3n^2 + j) \right| = (4n - 1) \\ \left| ef_{v_{1j}}(1) - ef_{v_{1j}(0)} \right| &= 1 \end{aligned}$$

Case 2: When k is negative $f(v_{(-1)j} = 3n^2 + j, 1 \le j \le (4n - 1))$

$$f(v_{kj}) = 3n^2 + \sum_{i=1}^{k-1} (4n - (2i - 1)) + j, 2 \le k \le n - 2, 1 \le j \le (4n - (2k - 1))$$

At v_{kj} , $2 \le k \le n - 2, 1 \le j \le (4n - (2k - 1))$

When j is even $|f(v_{kj}) - f(v_{k(j+1)})|$

$$= \begin{vmatrix} \left(3n^{2} + \sum_{i=1}^{k} (4n - (2i - 1) + j))\right) \\ - \left(3n^{2} + \sum_{i=1}^{k} (4n - (2i - 1) + j + 1))\right) \end{vmatrix} = 1$$

When *j* is odd

$$\begin{aligned} \left| f(v_{kj}) - f(v_{(k-1)(j+1)}) \right| \\ &= \left| \left(3n^2 + \sum_{i=1}^{k-1} (4n - (2i-1) + j) \right) - \left(\left(3n^2 + \sum_{i=1}^{k-2} (4n - (2i-1) + j + 1) \right) \right) \right| = (4n - 2(k-1)) \end{aligned}$$
$$\left| ef_{v_{kj}}(\mathbf{1}) - ef_{v_{kj}(\mathbf{0})} \right| = \mathbf{1}$$

At $v_{(-1)j}$, $2 \le j \le 4n - 2$ $|f(v_{((-1)j}) - f(v_{(-1)(j+1)})| = |(3n^2 + j) - (3n^2 + j + 1)| = 1$ When j is even $|f(v_{(-1)j}) - f(v_{(-2)(j-1)})| = |(3n^2 + j) - (3n^2 + (4n - 1) + j - 1)| = (4n - 2)$ When j is odd $|f(v_{1j}) - f(v_{(-1)j})| = |(3n^2 - (4n - 1) + j) - (3n^2 + j)| = (4n - 1)$ $|ef_{v_{(-1)j}}(1) - ef_{v_{(-1)j}(0)}| = 1$ Case 3: When i = n - 1, $f(v_{(n-1)j}) = 3n^2 - \sum_{i=1}^{n-1} (4n - (2i - 1)) + 2 + j, 1 \le j \le (2n + 1)$ $f(v_{(n-1)(2n+2)}) = 2n + 2$ $f(v_{(n-1)(2n+3)}) = 2n + 3$ At $v_{(n-1)j}$, $1 \le j \le 2n$ $|f(v_{(n-1)j}) - f(v_{(n-1)(j+1)})|$ $= \left| \left(3n^2 - \sum_{i=1}^{n-1} (4n - (2i - 1)) + 2 + j \right) - 3n^2$ $- \sum_{i=1}^{n-1} (4n - (2i - 1)) + 2 + j + 1 \right| = 1$

When *j* is even $|f(v_{(n-1)j}) - f(v_{n(j-1)})| = \left| \left(3n^2 - \sum_{i=1}^{n-1} (4n - (2i - 1)) + 2 + j \right) - 2j \right|$ $= \left(3n^2 - \sum_{i=1}^{n-1} (4n - (2i - 1)) + 2 - j \right)$

When *i* is odd

$$\begin{aligned} |f(v_{(n-1)j}) - f(v_{(n-2)(j+1)})| \\ &= \left| \left(3n^2 - \sum_{i=1}^{n-1} (4n - (2i-1)) + 2 + j \right) \right| \\ &- \left(3n^2 - \sum_{i=1}^{n-2} (4n - (2i-1)) + 2 + j + 1 \right) \right| = 2n + 2 \end{aligned}$$

$$\begin{aligned} \left| ef_{v_{(n-1)j}}(1) - ef_{v_{(n-1)j}(0)} \right| &= 1 \end{aligned}$$
Case 4: When $i = n$

$$f(v_{n(2j)}) = 2j - 1, 1 \le j \le n$$

$$f(v_{n(2j-1)}) = 2j, 1 \le j \le n$$

 $f(v_{n,2n+1}) = 2n+1$

when j is even

$$\begin{aligned} \left| f(v_{n(2j)}) - f(v_{n(2j-1)}) \right| &= |2j - 1 - 2j| = 1 \\ \left| f(v_{n(2j)}) - f(v_{n(2j+1)}) \right| &= |f(v_{n(2j)}) - f(v_{n(2(j+1)-1)}) \\ &= |2j - 1 - 2(j+1)| = 3 \\ \left| ef_{v_{n(2j)}}(1) - ef_{v_{n(2j)}}(0) \right| &= 0, \end{aligned}$$

When j is odd

$$f(v_{n(2j-1)}) - f(v_{(n-1)2j}) = \left| 2j - \left(3n^2 - \sum_{i=1}^{n-1} (4n - (2i-1)) + 2 + 2j \right) \right|$$
$$= \left(3n^2 - \sum_{i=1}^{n-1} (4n - (2i-1)) + 2 \right)$$
$$\left| ef_{v_{(n)}(2j+1)}(1) - ef_{v_{(n)}(2j+1)}(0) \right| = 1, 1 \le j \le n-1$$

Case 5: When i = -(n - 1)

$$f(v_{(-(n-1))j}) = 3n^{2} + \sum_{i=1}^{n-2} (4n - (2i - 1)) + j, 1 \le j \le 2n + 1$$

$$f(v_{(-(n-1))(2n+2)}) = 3n^{2} + \sum_{\substack{i=1\\n-2}}^{n-2} (4n - (2i - 1)) + 2n + 3$$

$$f(v_{(-(n-1))(2n+3)}) = 3n^{2} + \sum_{\substack{i=1\\n-2}}^{n-2} (4n - (2i - 1)) + 2n + 2$$
At $v_{(-(n-1))j}, 1 \le j \le 2n$

$$|f(v_{(-(n-1))j}) - f(v_{(-(n-1))(j+1})||$$

$$= \left| \left(3n^{2} + \sum_{\substack{i=1\\i=1}}^{n-2} (4n - (2i - 1)) + j \right) - \left(3n^{2} + \sum_{\substack{i=1\\i=1}}^{n-2} (4n - (2i - 1)) + j + 1 \right) \right| = 1$$
When j is even
$$|f(v_{(-(n-1))j}) - f(v_{(-(n))(j+1}))|$$

$$= \left| \left(3n^2 + \sum_{\substack{i=1\\n=1}}^{n-2} (4n - (2i - 1)) + j \right) - \left(3n^2 + \sum_{\substack{i=1\\n=1}}^{n-2} (4n - (2i - 1)) + 1 + j) \right) \right| = 2n + 4$$

When *j* is odd $\begin{aligned} |f(v_{(-(n-1))j}) - f(v_{(-(n-2))(j+1)})| \\ &= \left| \left(3n^2 + \sum_{i=1}^{n-2} (4n - (2i - 1)) + j \right) - \left(3n^2 + \sum_{i=1}^{n-3} (4n - (2i - 1)) + j + 1 \right) \right| = 2n + 4 \end{aligned}$

© 2019, IJCSE All Rights Reserved

 $\leq j \leq n$

$$\begin{aligned} \left| ef_{v_{-(n-1)j}}(1) - ef_{v_{-(n-1)j}(0)} \right| &= 1 \\ \text{Case 6: When } \mathbf{i} &= -\mathbf{n} \\ f(v_{(-n)2j}) &= 3n^2 + \sum_{i=1}^{n-1} (4n - (2i - 1)) + 1 + (2j - 1), 1 \le j \le n \\ f(v_{(-n)2j}) &= 3n^2 + \sum_{i=1}^{n-1} (4n - (2i - 1)) + 1 + 2j, 1 \le j \le n \\ f(v_{(-n)(2n+1)}) &= 6n^2 - 2n \\ \text{At } \mathbf{v}_{(-n)2j} \\ f(v_{(-n)2j}) - f(v_{(-(n))(2j - 1)}) \\ &= \left| \left(3n^2 + \sum_{i=1}^{n-1} (4n - (2i - 1)) + 1 + (2j - 1) \right) \\ &- \left(3n^2 + \sum_{i=1}^{n-1} (4n - (2i - 1)) + 1 + 2j \right) \right| = 1 \\ \left| f(v_{(-n)2j}) - f(v_{(-(n))(2j + 1)}) \right| &= \left| f(v_{(-(n))2j}) - f(v_{(-(n))(2(j + 1) - 1)}) \right| \\ &= \left| \left(3n^2 + \sum_{i=1}^{n-1} (4n - (2i - 1)) + 1 + 2j \right) \right| = 3 \\ \left| ef_{v_{(-n)2j}}(1) - ef_{v_{(-n)2j}(0)} \right| &= 0 \\ \text{At } \mathbf{v}_{(-n)(2j - 1)}, 2 \le j \le n \end{aligned}$$

 $|f(v_{(-n)(2j-1)}) - f(v_{(-n)2j})|$ $= \left| \left(3n^2 + \sum_{i=1}^{n-1} (4n - (2i - 1)) + 1 + 2j) \right) \right|$ $-\left(3n^{2} + \sum^{n-1} (4n - (2i - 1)) + 1 + (2j - 1)\right) = 1$

$$\begin{split} \left|f(v_{(-n)(2j-1)}) - f(v_{(-n)2(j-1)})\right| \\ &= \left| \left(3n^2 + \sum_{\substack{i=1\\n=1}}^{n-1} (4n - (2i - 1)) + 1 + 2j\right) \right. \\ &- \left(3n^2 + \sum_{\substack{i=1\\n=1}}^{n-1} (4n - (2i - 1)) + 1 + 2(j - 1) - 1\right) \right| = 3 \\ \left|f(v_{(-n)(2j-1)}) - f(v_{(-(n-1))2j})\right| \\ &= \left| \left(3n^2 + \sum_{\substack{i=1\\n=1}}^{n-1} (4n - (2i - 1)) + 1 + 2j\right) \right. \\ &- \left(3n^2 + \sum_{\substack{i=1\\n=1}}^{n-2} (4n - (2i - 1)) + 2j\right) \right| = 2n + 4 \end{split}$$



Fig 2: Honeycomb network HC(3)

At each vertex $v \in HC(n)$, $|ef_v(1) - ef_v(0)| \le 1$. Hence

any honeycomb network is a neighborhood graph. **Theorem 2:** Any grid $M(m \times n)$ is neighbourhood difference cordial graph. Let $V = \{v_1, v_2, v_3, ..., v_{mn}\}$ Define $f: V \rightarrow \{1, 2, 3, \dots, mn\}$ $f(v_{ij}) = (i-1)n + j, 1 \le i \le m, 1 \le j \le n$ Case 1: At v_{11} , $ef_{v_{11}}(1) = 1$ and $ef_{v_{11}}(0) = 1$. $|ef_{v_{11}}(1) - ef_{v_{11}}(0)| = 0.$ Case 2: At v_{1n} , $ef_{v_{1n}}(1) = 1$ and $ef_{v_{1n}}(0) = 1$: $|ef_{v_{1n}}(1) - ef_{v_{1n}}(0)| = 0$. Case 3: At v_{m1} , $ef_{v_{m1}}(1) = 1$ and $ef_{v_{m1}}(0) = 1 \therefore |ef_{v_{m1}}(1) - ef_{v_{m1}}(0)| = 0.$ Case 4: At v_{mn} , $ef_{v_{mn}}(1) = 1$ and $ef_{v_{mn}}(0) = 1$. $|ef_{v_{mn}}(1) - ef_{v_{mn}}(0)| = 0.$ Case 5: At v_{1j} , $2 \le j \le n-1$ $|f(v_{1i}) - f(v_{1(i+1)})| = |j - (j+1)| = 1$ $|f(v_{1i}) - f(v_{1(i-1)})| = |j - (j-1)| = 1$ $\begin{aligned} &|f(v_{1j}) - f(v_{2j})| = |j - (j + n)| = n\\ &\text{At } v_{1n}, ef_{v_{1j}}(1) = 2 \text{ and} \end{aligned}$ $ef_{1j}(0) = 1$: $\left| ef_{v_{1j}}(1) - ef_{v_{1j}}(0) \right| = 1.$ Case 6: At v_{mi} , $2 \le j \le n-1$ $\left|f(v_{mj}) - f(v_{m(j+1)})\right| = \left|((m-1)n+j) - (j+1+(m-1)n)\right| = 1$

 $\left|f(v_{mj}) - f(v_{(m-1)j})\right| = |((m-1)n+j) - (j+(m-2)n)| = |(m-1)n+j| = |(m-1)n+$ At v_{mi} , $ef_{v_{mi}}(1) = 2$ and $ef_{v_{mj}}(0) = 1$ $\therefore |ef_{v_{1j}}(1) - ef_{v_{1j}}(0)| = 1$ Case 7: At v_{i1} , $2 \le i \le m - 1$ $|f(v_{i1}) - f(v_{(i-1)1})| = |((i-1)n+1) - (1 + (i-2)n)| = n$ Let $V = \{v_1, v_2, \dots, v_k\}$
$$\begin{split} \left|f(v_{i1}) - f(v_{(i+1)1})\right| &= |((i-1)n+1) - (1+(i)n)| = n \\ |f(v_{i1}) - f(v_{i2})| &= |((i-1)n+1) - (2+(i-1)n)| = 1 \end{split}$$
At v_{i1} , $ef_{v_{i4}}(1) = 1$ and $ef_{v_{i_1}}(0) = 2 \therefore |ef_{v_{i_1}}(1) - ef_{v_{i_1}}(0)| = 1$ Case 8: At v_{in} , $2 \leq i \leq m-1$ $|f(v_{in}) - f(v_{i(n-1)})| = |((i-1)n+n) - (n-1+(i-1)n)| = 1$ $\left|f(v_{in}) - f(v_{(i+1)n})\right| = \left|((i-1)n + n) - (n+(i)n)\right| = n$ $|f(v_{in}) - f(v_{(i-1)n})| = |((i-1)n+n) - (n+(i-2)n)| = n$ At v_{in} , $ef_{v_{in}}(1) = 1$ and $ef_{v_{in}}(0) = 2$: $|ef_{v_{in}}(1) - ef_{v_{in}}(0)| = 1$ Case 9: At v_{ii} , $2 \leq i \leq m - 1$, $2 \leq i \leq n-1$ $|f(v_{ij}) - f(v_{i(j-1)})| = |((i-1)n+j) - (j-1+(i-1)n)| = 1$ $|f(v_{ij}) - f(v_{(i+1)j})| = |((i-1)n+j) - (j+(i)n)| = n$ $|f(v_{ij}) - f(v_{(i-1)j})| = |((i-1)n+j) - (j+(i-2)n)| = n$ $|f(v_{ij}) - f(v_{i(j+1)})| = |((i-1)n+j) - (j+1+(i-1)n)| = 1$ At v_{ij} , $ef_{v_{ij}}(1) = 2$ and $ef_i(0) = 2$. $|ef_{v_{ij}}(1) - ef_{v_{ij}}(0)| = 0$ By the above labeling, at each vertex

 $v_{j}|ef_{v}(1) - ef_{v}(0)| \leq 1$. Hence grid is a neighborhood difference cordial graph.





 $|f(v_{mi}) - f(v_{m(i-1)})| = |((m-1)n+j) - (j-1+(m-1)n)|$ Theorem 3: Anybutterfly network BF(n) is neighborhood difference cordial graph.

$$|| = n$$

Proof:

The butterfly network has $(n+1)2^n$ vertices and $n 2^{n+1}$ edges.

Define $f: V \to \{1, 2, 3, ..., (n+1)2^n\}$ 2

$$f(v_{ij}) = (n+1)(j-1) + (i+1), 0 \le i \le n, 1 \le j \le 2^n.$$

The edge connecting the vertices v_{ij} and

 $v_{(i+1)i}$, $0 \le i \le n-1$ are straight edges and other edges are cross edges. By the above labeling the stright edges are labeled with 1 and cross edges are not labeled with 1. At each vertices \boldsymbol{v} , the no of stright edges and cross edges are equal. Therefore at each vertex

 $v \in V(G) |ef_v(1) - ef_v(0)| = 0$. Hence butterfly network is a neighborhood differential cordial graph.



Fig 4: Butterfly network BF(3)

Theorem 4: Any benes network is a neighbourhood difference cordial graph. **Proof:**

The n dimentional benes network has $(2n + 1)2^n$ vertices and $n 2^{n+2}$ edges. In level 0 and level n-1, vertices are of degree 2 and in other levels, vertices are of degree 4.

Let $V = \{v_1, v_2, v_3, \dots, v_k\}$ Define $f: V \to \{1, 2, 3, ..., (2n + 1)2^n\}$ $f(v_{ij}) = (2n+1)(j-1) + (i+1), 0 \le i \le 2n, 1 \le j \le 2^n.$ **Proof:** The proof is similar to butterfly network.

© 2019, IJCSE All Rights Reserved



Fig 5: Benes network BB(3)

From the above labeling the bene network is a neighborhood difference cordial graph.

CONCLUSION

In this paper we proved that honey comb network, grid, butterfly network and benes network are neighbourhood difference cordial graph.

REFERENCES

- [1]. I.Cahit, Cordial graph: A weaker version of graceful and harmonious graphs, Ars Combinatorial 23(1987), 201-207
- [2]. R.Ponraj, S.Sathish Narayanan and R.Kala, A note on difference cordial graphs, Palestine Journal of mathematics, 4(1), (2015), 189-197.
- [3].M.A.Seoud ,ShakirM.Salman , On difference cordial graphs, Mathematica Aeterna , Vol. 5, 2015, no.1, 105-124.

© 2019, IJCSE All Rights Reserved

- Vol.7(3), Mar 2019, E-ISSN: 2347-2693
- [4]. Mirka Miller, Indira Rajasingh, D.Ahima Emilet, D.AzubhaJemilet, *d-Lucky Labeling of graphs*, Procedia Computer Science 57 (2015) 766-771.
- [5]. R.Ponraj, S.Sathish Narayanan and R.Kala, Difference cordial labeling of graphs, Global.J.Mat.Sciences: Theory and Practical, 3(2013), 192-201.
- [6]. V.M.Chitra, D.Antony Xavier, D.Florence Isido, On neighbourhood difference cordial labeling of graphs, International Journal of Information and Computing Science, Volume 6, Issue 2, February 2019

Authors Profile

Dr. Antony Xavier pursued Bachelor

of Science from Government Arts College, Krishnagiri in 1992 and Master of Science from St. Xaviers College in 1994. He passed M.Phil with distinction at Loyola College in 1995 and Ph.D from Madras University in 2002 with a remark of highly commended. He is working as



an Assistant professor in Depatment of Mathematics, Loyola College, Chennai. He has 15 years of teaching experience both in UG and in PG and 7 years for M.Phil. He has more than 40 publications in reputed National and International Journals. He has given invited talk both in National and International conferences. He guided 3 students and 10 students are working under him for Ph.D

Ms.V.M.Chitra pursed her Bachelor degree in Applied Sciences, Mater Degree in Applied Mathematics at Thiagarajar College of Engineering, Madurai and M.Phil from Madurai Kamaraj University.She has 15 years of teaching experience in Engineering and Arts and Science colleges.She has 6



publications in reputed National and International Journals. She is working as an Assistant Professor in the Depatment of Mathematics, Sriram Ebgineering College, Perumal Pattu, Chennai. Currently she is doing her research at The Department of Mathematics, Loyola College, Chennai